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fit 3%

EXARBEH L
#. RS EHRER ERAf T

setwd("E:/H E TH &5 /HAES TR

datal<-read.csv("14 47 0612.csv")

library(np)

library(plm)

library(ggplot2)

pdata<-pdata.frame(datal,index=c("ID","YEAR"))

attach(pdata)

bwhglc_aic <-
npregbw(inter~GAP1,pdata,regtype="Ic" ,bwmethod="cv.aic" ,bwtype="generalized nn")

a<-
npreg(bws=bwhglc_aic,formula=inter~GAP1,pdata,regtype="1c",bwmethod="cv.aic" ,bwtype="ge
neralized nn",gradients=TRUE,residuals=TRUE)

plot(a, plot.errors.method="bootstrap",xlab="Tgap")

sigtest.bwhglc aic.adp <- npsigtest(a,boot.num = 399 )

summary(sigtest.bwhglc_aic.adp)

d<-cbind(a[["mean"]],GAP1)

write.csv(d," & FEA Tgap 5 W A AL G THE. csv")

#2. JESHEREE R BT

attach(pdata)
## (1) 10 F£5K
row <- 1:5
g=1
d<-NA
for (q in row){
pdata_i<-pdata[which(as.numeric(pdataS$YEAR)<q+10),]
pdata_j<-pdata_i[which(as.numeric(pdata_iSYEAR)>q-1),]
attach(pdata_j)
bwhglc11 <-
npregbw(inter~GAP1,pdata_j,regtype="1c",bwmethod="cv.aic" ,bwtype="generalized nn")
a<-
npreg(bws=bwhglc11,formula=inter~GAP1,pdata_j,regtype="Ic",bwmethod="cv.aic",bwtype="ge
neralized nn",gradients=TRUE,residuals=TRUE)
sigtest.bwhglc_aic.adp <- npsigtest(a,boot.num = 399 WH#IESEK L
summary(sigtest.bwhglc_aic.adp)
s<-cbind(a[["mean"]], GAP1)
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d<-rbind(d,s)
plot(a,type="1")
par(new=TRUE)
q=q+1
H
d<-d[-1,]
write.csv(d," -0 K inter-gap JES Al 1H45 F.csv™)
data<-read.csv("T4E K inter-gap IEShiH45 R (CEH) csv")
str(data)
attach(data)
ggplot(data,aes(FL AR 2= B, 8] 72 i A 1146, group=1I1 2 I 3, linety pe=ll 52 i 391, colour=3l 4 I}
HH))+geom line()
#h# (2) 84K
row <- 1:7
#as.numeric(as.character(unique(pdata$YEAR)))
g=1
d<-NA
for (q in row){
pdata_i<-pdata[which(as.numeric(pdata$YEAR)<q+8),]
pdata_j<-pdata_i[which(as.numeric(pdata iSYEAR)>q-1),]
attach(pdata_j)
bwhglcl1 <-
npregbw(inter~GAP1,pdata_j,regtype="Ic",bwmethod="cv.aic" ,bwtype="generalized nn")
a<-
npreg(bws=bwhglc11,formula=inter~GAP1,pdata_j,regtype="Ic",bwmethod="cv.aic",bwtype="ge
neralized nn",gradients=TRUE,residuals=TRUE)
sigtest.bwhglc aic.adp <- npsigtest(a,boot.num = 399 )
summary(sigtest.bwhglc aic.adp)
s<-cbind(a[["mean"]],GAP1)
d<-rbind(d,s)
plot(a,type="1")
par(new=TRUE)
q=q+l
H
d<-d[-1,]
write.csv(d," )\ K inter-gap AES 1145 R .csv")
data<-read.csv("/\5FZ K inter-gap JESLTT4E5 R (CEHL) csv")
str(data)
attach(data)
p8<-ggplot(data,aes( £ AR Z FE , H 8] /= & W W] {4 ,group= Ml 5 B ] linetype= M 5 K
))+geom _line()
#i# (3) 6 FEHK
row <- 1:9

g=1
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d<-NA
for (q in row){
pdata_i<-pdata[which(as.numeric(pdata$YEAR)<q+6),]
pdata_j<-pdata_i[which(as.numeric(pdata iSYEAR)>q-1),]
attach(pdata_j)
bwhglcll <-
npregbw(inter~GAP1,pdata_j,regtype="Ic",bwmethod="cv.aic",bwtype="generalized nn")
a<-
npreg(bws=bwhglc11,formula=inter~GAP1,pdata_j,regtype="1c",bwmethod="cv.aic" ,bwtype="ge
neralized nn",gradients=TRUE,residuals=TRUE)
sigtest.bwhglc_aic.adp <- npsigtest(a,boot.num = 399 )
summary(sigtest.bwhglc aic.adp)
s<-cbind(a[["mean"]],GAP1)
d<-rbind(d,s)
plot(a,type="1")
par(new=TRUE)
g=q+1
H
d<-d[-1,]
write.csv(d," /NP K inter-gap JES Al TH45 F.csv™)
data<-read.csv("/NE K inter-gap IES AR (CEH) csv")
str(data)
attach(data)
ggplot(data,aes($ A Z BE, 4 18] 72 i I )4k, group=il 515 3, linetype=3l 5 i # ,colour=3ll & if
A ))+geom line()+facet wrap(~ M| & B ] )+theme(panel.background = element rect(fill =

"transparent", color = "gray"))

#3. IESHIRY BAEEL LT

attach(pdata)

pdata$inte.ta<-inte*ta

bwhglc_aic <-

npregbw(inter~GAP1+inte.ta,pdata,regtype="1c" ,bwmethod="cv.aic",bwtype="generalized nn")
a<-

npreg(bws=bwhglc aic,formula=inter~GAP 1+inte.ta,pdata,regtype="1c" ,bwmethod="cv.aic" ,bwty
pe="generalized_nn",gradients=TRUE,residuals=TRUE)

plot(a, plot.errors.method="bootstrap",cex.lab=1,cex.axis=0.7,main="",xlab="+{ R Z ", ylab="
P AR 5 IR SR zlab=""1 [E] 7= i P ) £6)

sigtest.bwhglc_aic.adp <- npsigtest(a,boot.num =399 )

summary(sigtest.bwhglc aic.adp)

HABIR T . BABRENERE

import delimited F:\GVC\ %7 % 4 {H #% 5 \write\ # & \ & Tk & 3\ = &



DA% BARE. BIFRRALSEOERENEST T o R 01 g0

\data\2factor\5Y0621.csv,clear
egen sect = group(sector)

egen seci = group(sec)

egen parnter = group(col)

xtset sect year

foreach var in intel eti gi mf inf {
gen In"var'=log("var')

replace In'var' = 0 if In"var'==.

H
gen dea = 1/death
tab year,gen(year)

destring cap12 lab12, replace ignore(""#DIV/0!"")
center dfinr Ininte Ineti

gen inte_dfinr =c_Ininte*c_ dfinr

gen ed f=exp(d_f)

foreach varin ive rive dive ttive rtive dtive tgive rgive d give t {
destring “var', replace ignore(""#N/A"")

H

*ive

gen ive rl =ivc r¥10e3

gen ive dl =ivc_d*10e3

gen ive tl =ive t*¥10e3

*tive

gen tive_rl =tive r*10e3

gen tive_d1 =tive_d*10e3

gen tive_tl =tive t*¥10e3

*aive

gen givce rl = give r*¥10e3

gen give_d1 = give_d*10e3

gen give tl = give t*10e3

gen ddfinr = d.dfinr

gen dlninte = d.Ininte

center ddfinr dlninte

gen dinte_ddfinr = ¢_ddfinr*c_dlninte
gen inte_ddfinr = ¢_ddfinr*c_Ininte
gen dinte_dfinr = ¢_dfinr*c_dlninte

gen Inintelr = dlninte1/Inintel
gen dlnintel = d.Inintel
center Inintelr dlnintel

gen intelr_dfinr = ¢_dfinr*c Inintelr

/5. FR TR it P9 T AL 55 H O P 388 B 43 A3 A0 TR AR BT )5
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global xxx "c_dfinr ¢_Inintel Ineti intelr_dfinr ed fIngi Inmf Ininf cap12 lab12"

global xxxd "c_ddfinr lL.c_dlnintel d.lneti intelr dfinr d.ed f d.Ingi d.Inmf d.Ininf d.cap12
d.lab12"

sk (1) EHIVIIRK I

xtreg ivc_tl c¢_dfinr i.year if year>=2009, fe vce(cluster sect)

est sto ivc_tl

xtreg ivc_tl c¢_dfinr ¢_Inintel Ineti intelr dfinr if year>=2009, fe vce(cluster sect)

est sto ivc_t3

xtreg ive_tl $xxx if year>=2009, fe vce(cluster sect)

est sto ivc_t4

wRE (D) ZEAMEAY

xtreg d.ive_tl ¢_ddfinr i.year if year>=2009, fe vce(cluster sect)

est sto ive_dtl

xtreg d.ive_tl ¢_ddfinr l.c_dInintel d.Ineti intelr dfinr if year>=2009, fe vce(cluster sect)

est sto ivc_dt3

xtreg d.ive_tl $xxxd if year>=2009, fe vce(cluster sect)

est sto ivc_dt4

cd "FA\GVC\FA ) B {E % S \write\ B\ B Tk 250\ = #\result"

outreg? [ive tl ive t3 ive t4 ive dtl ive dt3 ive dt4] using "ive t 1dfe0805",excel replace tstat
e(r2_a,F) bdec(4) sdec(4) tdec(4) pdec(4) rdec(4)

11650 8] 7= i PN Te) A X H 0 888 4 28 3% S T A e I

xtreg ive_rl ¢_dfinr i.year if year>=2009, fe vce(cluster sect)

est sto ive_rl

xtreg ivc_rl ¢_dfinr ¢_Inintel ed fi.year if year>=2009, fe vce(cluster sect)

est sto ivc_r2

xtreg ivc_rl ¢_dfinr ¢_Inintel ed fintelr dfinr if year>=2009, fe vce(cluster sect)

est sto ivc_r3

xtreg ive_rl ¢_dfinr ¢_Inintel ed fintelr dfinr Ineti Ingi Inmf Ininf if year>=2009, fe vce(cluster
sect)

est sto ivc_r4

xtreg ive_rl $xxx if year>=2009, fe vce(cluster sect)

est sto ivc_r5

cd "FA\GVC\A 7y B A% S \write\ AR\ [ Tk 256\ = # \result"

outreg? [ivc rl ive 12 ive 13 ive r4 ive r5] using "ive r fe0805",excel replace tstat e(r2_a,F)
bdec(4) sdec(4) tdec(4) pdec(4) rdec(4)

/7. FP TR it PY TR AR H AR A S8 T AR [ )5

xtreg ive_d1 c_dfinr i.year if year>=2009, fe vce(cluster sect)
est sto ivc_dl



DRS BAZE. AP RRELSE0ERENE T T e e W AR 010 o g

xtreg ivc_dl1 ¢ _dfinr ¢_Inintel ed fi.year if year>=2009, fe vce(cluster sect)

est sto ivc_d2

xtreg ivc_dl ¢ _dfinr ¢_Inintel ed fintelr dfinr if year>=2009, fe vce(cluster sect)

est sto ivc_d3

xtreg ive_dl c¢_dfinr ¢ Inintel ed f intelr dfinr Ineti Ingi Inmf Ininf if year>=2009, fe
vece(cluster sect)

est sto ivc_d4

xtreg ive_d1 $xxx if year>=2009, fe vce(cluster sect)

est sto ivc_d5

cd "FA\GVC\H Fy B (E % 5 \write\BAR\H Bl Tl 2850\ — #\result"

outreg? [ivc dl ive _d2 ive d3 ivc_d4 ivc_d5] using "ive _d fe0805",excel replace tstat e(r2_a,F)
bdec(4) sdec(4) tdec(4) pdec(4) rdec(4)

/18 FAR A I

wex (1) FHPIIEFRA TREERR (IR 2)

global xivrQ "(c_dfinr = 1.fs 12.fs)"

global xivr01 "(c_dfinr = fs 12.fs)"

global xivrl  "(c_dfinr ¢_Inintel Ineti = l.c_dfinr fs LIneti l.c_Inintel) intelr dfinr ed fcapl2
lab12 Ingi"

global xivr12 "(c_dfinr ¢_Inintel Ineti = 1.fs fs l.c_Inintel 12.c_Inintel) intelr _dfinr ed f capl2
lab12 Ingi"

foreach var in ive rl{

ivreg2 “var' $xivr0 if year>=2009, cluster(ts)

est sto "var'tsiv_robust1

ivreg2 “var' $xivr01 if year>=2009, cluster(sect)

est sto “var'sciv_robustl

ivreg2 “var' $xivrl if year>=2009, cluster(ts)

est sto “var'tsiv_robust2

ivreg2 “var' $xivrl if year>=2009, cluster(sect)

est sto “var'sciv_robust2

H

global xivdts0 "(c_dfinr =12.fs dea)"

global xivdtsl "(c_dfinr c_Inintel Ineti = 12.fs dea lIneti l.c Inintel) intelr dfinr ed f
capl2 lab12 Ingi"

global xivdscO "(c_dfinr = 12.fs dea)"

global xivdscl "(c_dfinr c_Inintel Ineti = l.c_dfinr LIneti Lfs dea fs) intelr dfinr ed fcapl2
lab12 Ingi"

foreach var in ive_dl1{

ivreg2 ‘var' $xivdts0 if year>=2009, cluster(ts)

est sto “var'tsiv_robust1



DRS BAZE. AP RRELSE0ERENE T T e e W AR 010 o g

ivreg2 “var' $xivdsc0 if year>=2009, cluster(sect)

est sto “var'sciv_robustl

ivreg2 ‘var' $xivdtsl if year>=2009, cluster(ts)

est sto “var'tsiv_robust2

ivreg2 ‘var' $xivdtsl if year>=2009, cluster(sect)

est sto “var'sciv_robust2

H

cd "FA\GVC\H Fy B {E % 5 \write\BAR\H B Tk 250\ — #\result"

outreg2  [ivc_rltsiv_robustl  ivc rltsiv_robust2  ivc rlsciv_robustl  ivc rlsciv_robust2
ive_dltsiv_robustl ivc_dltsiv_robust2 ivc_dlsciv_robustl ivc dlsciv_robust2 ] using
"ivc_robust_iv0805",excel replace tstat e(r2_a,F,j,jp,idstat,idp,widstat) bdec(4) sdec(4) tdec(4)
pdec(4) rdec(4)

wk (2) EHRBEBRRBLER (R 3)

global xivr0 "(c_ddfinr = d.fs fs)"

global xivr01 "(c_ddfinr = d.fs fs)"

global xivrl "(c_ddfinr l.c_dlnintel d.Ineti = 1d.fs d.fs 12.c_dlnintel 1d.Ineti Id.dea ) intelr dfinr
d.ed fd.capl12 d.lab12 d.Ingi"

global xivr12 "(c_ddfinr l.c_dInintel d.Ineti = d.fs 1d.fs 1d.Ineti l.dea) intelr_dfinr d.ed fd.cap12
d.lab12 d.Ingi"

foreach var in ive rl{

ivreg2 d. var' $xivr0 if year>=2009, cluster(ts)

est sto “var'tsiv_robust1

ivreg2 d."var' $xivr0 if year>=2009, cluster(sect)
est sto “var'sciv_robustl

ivreg2 d.'var' $xivrl if year>=2009, cluster(ts)

est sto “var'tsiv_robust2

ivreg2 d.'var' $xivr12 if year>=2009, cluster(sect)
est sto “var'sciv_robust2

H

global xivdts0 "(c_ddfinr = 12d.fs d.dea)"

global xivdtsl  "(c_ddfinr  lc dlnintel d.Ilneti = l.c ddfinr d.fs Id.fs Id.lneti 1d.dea)
intelr_dfinr d.ed fd.cap12 d.lab12 d.Ingi"

global xivdscO "(c_ddfinr = 1d.fs d.dea)"

global xivdscl "(c_ddfinr ILc dlnintel d.lneti = ld.lneti 12.fs l.dea 1.fs) intelr dfinr d.ed f
d.cap12 d.lab12 d.Ingi"

foreach var in ive_d1{

ivreg2 d.'var' $xivdts0 if year>=2009, cluster(ts)
est sto “var'tsiv_robust1

ivreg2 d.'var' $xivdsc0 if year>=2009, cluster(sect)
est sto “var'sciv_robustl

ivreg2 d.'var' $xivdts] if year>=2009, cluster(ts)
est sto “var'tsiv_robust2
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ivreg2 d."var' $xivdscl if year>=2009, cluster(sect)

est sto “var'sciv_robust2

H

cd "FA\GVC\H Fy B E % 5 \write\BAR\H B Tl 250\ = # \result"

outreg2  [ivc_rltsiv_robustl  ivc rltsiv_robust2  ivc rlsciv_robustl  ivc rlsciv_robust2
ive_dltsiv_robustl ivc_dltsiv_robust2 ivc_dlsciv_robustl ivc_dlsciv_robust2 ] using
"ivc_robust_div0804",excel replace tstat e(r2_a,F,j,jp,idstat,idp,widstat) bdec(4) sdec(4) tdec(4)
pdec(4) rdec(4)

/19.1 TR HI AR

import delimited F:\GVC\ % % ¥ {f #% & \write\ & %5 \ Tk & 5\ =
\data\2factor\data470621.csv,clear
egen sect = group(sector)

egen seci = group(sec)

egen parnter = group(col)

foreach var in intel mf invf gi ta {
gen In"var'=log("var')

H

tab year,gen(year)

center dfinr Inintel

xtset sect year

*ive

gen ive rl =ivc r¥10e3

gen ive _dl =ivc_d*10e3

gen ive tl =ive t*10e3

*tive

gen tive_rl =tive r*10e3

gen tive_d1 =tive_d*10e3

gen tive_tl =tive t*¥10e3

*aive

gen give rl = give r*¥10e3

gen give_d1 = give_d*10e3

gen give tl = give t*10e3

* cap

gen capl2 = cap_p/cap

* lab
gen lab12 =lab_p/lab
gen igapl =1

replace igapl = 0 if gapjq <2.5
gen igap2 =0

replace igap2 = 1 if gapjq <2.5
gen dfinrgapl = ¢_dfinr * igap1
gen dfinrgap2 = ¢_dfinr * igap2



DRS BAZE. AP RRELSE0ERENE T T e e W AR 010 o g

global xth "dfinrgap1 dfinrgap2 c_Inintel Inta Ingi Inmf Ininvf cap12 lab12"

/9.1 FBRRERZEER]PRER A 45 R

k(1) HEIN{E R RN

xtreg ivc_rl dfinrgapl dfinrgap? if year>2004, fe

est sto ivc_rth_dfl

xtreg ive_rl $xth if year>2004, fe

est sto ivc_rth_df2

sk (2) H ARAE BN,

xtreg ivc_d1 dfinrgapl dfinrgap? if year>2004, fe

est sto ivc_dth_dfl

xtreg ive_d1 $xth if year>2004, fe

est sto ivc_dth_df2

cd "FA\GVC\FA ) BB % 5 \write\ B\ B Tk 250\ = # \result"
outreg? [ivc_rth_dfl ive rth df2 ivc dth dfl ivc dth df2] using "ive th0804",excel replace tstat
e(r2_a,F) bdec(4) sdec(4) tdec(4) pdec(4) rdec(4)

119.2 NER 575 KK I TRRE AR M55 R
o (D) GRS

* RN

xtreg tive_tl $xth if year>2004, fe
est sto tivc_tl_th2

I IE A RN

xtreg tive_rl $xth if year>2004, fe
est sto tive_rl_th2

* H AR AT R

xtreg tive_d1 $xth if year>2004, fe
est sto tive_d1_th2

wRx (D) AERINHEE

* N

xtreg give_t1 $xth if year>2004, fe
est sto give t1 th2

I IE A RN

xtreg give_rl $xth if year>2004, fe
est sto give rl_th2

* PR AR

xtreg give_d1 $xth if year>2004, fe
est sto give_d1_th2

cd "FA\GVC\A 7y B4 A% S \write\ AR\ [ Tl 256\ = # \result"
outreg? [tivc tl th2 tive rl th2 tive d1 th2 give t1 th2 givc rl th2 give dl _th2] using
"tgive th0804",excel replace tstat e(r2_a,F) bdec(4) sdec(4) tdec(4) pdec(4) rdec(4)

19.3 ARA BT A RBER L
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*-SUEST test for panel data
* BRI
xtdes
OB BPATHN 0 FERAMERLN
local y "tive_tl tive rl tive dl1 give tl give rl give d1"
center 'y', prefix(cy )
center $xth, prefix(cxth )
*- g3 L1 73 B
)T RN
reg cy tive tl cxth * if year>2004
est store tive_tl
reg cy givc tl cxth * if year>2004
est store givc_tl
*(2) R HY EHE B AR AN
reg cy tive rl cxth * if year>2004
est store tive rl
reg cy givce rl cxth * if year>2004
est store give rl
*(3) D FRAFRLR
reg cy_tive dl cxth * if year>2004
est store tive_d1
reg cy give dl cxth * if year>2004
est store give dl
B Al A R
()T BN
esttab tivce_tl give tl, nogap mtitle(tive_tl1 _Coll give tl1_Coll) //
star(* 0.1 ** 0.05 *** 0.01) s(r2 N)
*(2) R I IME F AN
esttab tivc_rl give rl, nogap mtitle(tive r1_Coll give rl1_Coll) ///
star(* 0.1 ** 0.05 *** 0.01) s(r2 N)
*(3) D FARAF AR
esttab tive_d1 give dl, nogap mtitle(tive_d1_Coll give_d1_Coll) ///
star(* 0.1 ** 0.05 *** 0.01) s(r2 N)
*AATCAHRAL T & *-2HIA) 22 A B
()T BN
suest tive_tl give tl
test [tive_tl mean]cxth dfinrgapl = [givc tl mean]cxth dfinrgapl
test [tive_t]l mean]cxth dfinrgap2 = [givc tl mean]cxth dfinrgap2
*(2)R G IME R A
suest tive_rl give rl
test [tive_rl _mean]cxth dfinrgapl = [givc_rl mean]cxth dfinrgapl
test [tive_rl _mean]cxth dfinrgap2 = [give rl _mean]cxth dfinrgap2
*(3) D FARAE R

suest tive_d1 give dl

10
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test [tive_dl_mean]cxth_dfinrgapl = [give d1 _mean]cxth_dfinrgapl
test [tive_d]l mean]cxth_dfinrgap2 = [give_d1_mean]cxth_dfinrgap2

i ZEREMTIREZREXHARRD, AREANEZEAFEARONE. IARPERIZ
MRPORE, FHVETRERLFRASI S TR,
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